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Read the following worded questions carefully, is it an addition or subtraction calculation that is required to solve the problem? 
Underline the important information. 
1. Mr Beetroot has a 25-acre pumpkin patch. Last week he harvested 985 pumpkins. This week he harvested 1092 pumpkins. How many more pumpkins did he harvest this week than last week?
2. Miss Cobb runs a large farm stand. This year she sold 3405 bags of apples. Last year she sold 2332 bags of apples. How many more bags did she sell this year than last year? 
3. Yesterday on a country walk, James found 346 conkers. Today he lost 14, but then found 68. How many conkers does James have altogether? 
4.  In Tesco, a large pumpkin costs £12.50. In Asda, a large pumpkin costs £8.49. How much cheaper is the Asda pumpkin? 
5. A squirrel is collecting acorns to bury for winter. Last week he buried safely 658 acorns. This week he forgot where he had buried 19 of them, but then found and buried another 196. How many acorns does the squirrel have buried for winter? 

Maths homework week b 16.10.17 Meteors and Moons.
Read the following worded questions carefully, is it an addition or subtraction calculation that is required to solve the problem? 
Underline the important information. 
1. Mr Beetroot has a 25-acre pumpkin patch. Last week he harvested 85 pumpkins. This week he harvested 92 pumpkins. How many more pumpkins did he harvest this week than last week?
2. Miss Cobb runs a large farm stand. This year she sold 405 bags of apples. Last year she sold 332 bags of apples. How many more bags did she sell this year than last year? 
3. Yesterday on a country walk, James found 46 conkers. Today he lost 7, but then found 31. How many conkers does James have altogether? 
4.  In Tesco, a large pumpkin costs 78p. In Asda, a large pumpkin costs 49p.How much cheaper is the Asda pumpkin? 
5. A squirrel is collecting acorns to bury for winter. Last week he buried safely 58 acorns. This week he forgot where he had buried 9 of them, but then found and buried another 97. How many acorns does the squirrel have buried for winter? 

